3. An experiment has been canded out to investigate the temperature dependence of
the resistance of a copper wire. A common model is represented by the equation

R = R{r“ g uT}

where R js the resistance at temperature T°C, R is the resistance at 0°C, and « is

the temperature coefficient of resistance. Observations of R and T were obtained as

aiven in the table at the top of p. 135,

{a) Using the method of least squares (suggested headings under which the calcu-
lations can be carried out are piven in the first part of the table), obtain the best
value for the slope and for the intcrcept.

{b} Hence obtain the best value for .

(¢} Evaluate the standard deviation for the slope and for the intercept (suggesied
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headings for this part of the calculation are given in the second part of the
table).

{d) Hence evaluate the standurd deviation of w.

(e) State the final result of the experiment with the appropriate number of
significant figures.



